

1) Use the Leibnitz-Radawnin method to determine a series solution for

$$(1-x^2) \frac{d^2y}{dx^2} - 2x \frac{dy}{dx} + 2y = 0$$

$$P_1 = (1-x^2) d^2y/dx^2 = (1-x^2) y^{(2)}$$

$$P_2 = -2x dy/dx = (-2x) y^{(1)}$$

$$P_3 = 2y = 2y$$

For P_1

$$u = y^2 \quad v = 1-x^2$$

$$u^n = y^{(n+2)} \quad v' = -2x$$

$$u^{(n-1)} = y^{(n+1)} \quad v'' = -2$$

$$y^{(n-2)} = y^n \quad v''' = 0$$

for P_2

$$u = y^{(1)} \quad v = -2x$$

$$u^n = y^{(n+1)} \quad v' = -2$$

$$y^{(n-1)} = y^{(n)} \quad v'' = 0$$

for P_3

$$u = y \quad v = 2$$

$$u^n = y^n \quad v' = 0$$

$$y_n = y_n(u_1) + y_n(u_2) + y_n(u_3)$$

$$y_n = \frac{u^n}{n!} + \frac{2uv' n u^{(n-1)}}{2!} + \frac{n(n-1)u^{(n-2)}v''}{3!} + \frac{n(n-1)(n-2)u^{(n-3)}v'''}{4!}$$

$$y_n = y^{(n+2)} (1-x^2) + n y^{(n+1)} (-2x) + \frac{n(n-1)}{2} y^n (-2) + y^{(n+1)} (-2x) + \frac{n(n-1)(n-2)}{6} y^{(n-3)} (0)$$

$$y_n = y^{(n+2)} (1-x^2) - 2xy^{(n+1)} - x(n^2-n)y^n - 2xy^{(n+1)} - 2ny^n + 2y^{(n+1)} (-2x)$$

$$y_n = y^{(n+2)} (1-x^2) - 2xy^{(n+1)} (n+1) - 2y^n (n^2-n) - 2xy^{(n+1)} (n+1) - 2ny^n + 2y^{(n+1)} (-2x)$$

$$y_n = y^{(n+2)} (1-x^2) - 2xy^{(n+1)} (n+1) - 2y^n (n^2-n) - 2xy^{(n+1)} (n+1) - 2ny^n + 2y^{(n+1)} (-2x)$$

When $x=0$

$$y_n = y^{(n+2)} (1) - 0 - 2y^n (n^2-n) - 0 - 2ny^n + 2y^{(n+1)} (0)$$

$$y_n = y^{(n+2)} - 2y^n(n^2+1) - y^n(n^2+n-2)$$

$$0 = y^{(n+2)} - 2y^n(n^2+1) - y^n(n^2+n-2)$$

$$y^{(n+2)} = -2(n^2+1)y^n + y^n(n^2+n-2) \text{ recurrence relation}$$

When $n=0$

$$y^{(2)} = + (y^{(0)})_0 (0+0-2)$$

$$y^{(2)} = -2(y^{(0)})_0$$

When $n=1$

$$(y^{(3)})_0 = - (y^{(1)})_0 (1+1-2) = 0 (y^{(1)})_0 = 0$$

$$n=2 \quad (y^{(4)})_0 = - (y^{(2)})_0 (4+2-2) = +4 (y^{(2)})_0 = +4(-2) (y^{(0)})_0$$

$$n=3 \quad (y^{(5)})_0 = - (y^{(3)})_0 (9+3-2) = +9 (y^{(3)})_0 = +9(0) = 0$$

$$n=4 \quad (y^{(6)})_0 = - (y^{(4)})_0 (16+4-2) = +18 (y^{(4)})_0 = +18(+4)(-2) (y^{(0)})_0$$

$$n=5 \quad (y^{(7)})_0 = - (y^{(5)})_0 (25+5-2) = -28 (y^{(5)})_0 = -28(0) = 0$$

$$n=6 \quad (y^{(8)})_0 = - (y^{(6)})_0 (36+6-2) = +40 (y^{(6)})_0 = +40(+18)(+4)(-2) (y^{(0)})_0$$

$$n=7 \quad (y^{(9)})_0 = - (y^{(7)})_0 (49+7-2) = +54 (y^{(7)})_0 = +54(0) = 0$$

$$A = (y^{(0)})_0 + \pi (y^{(1)})_0 + \frac{\pi^2}{2!} (y^{(2)})_0 + \frac{\pi^3}{3!} (y^{(3)})_0 + \frac{\pi^4}{4!} (y^{(4)})_0$$

$$+ \frac{\pi^5}{5!} (y^{(5)})_0 + \frac{\pi^6}{6!} (y^{(6)})_0 + \frac{\pi^7}{7!} (y^{(7)})_0 + \frac{\pi^8}{8!} (y^{(8)})_0 + \frac{\pi^9}{9!} (y^{(9)})_0 + \dots$$

$$y_n = (y^{(0)})_0 + \pi (y^{(1)})_0 + \frac{\pi^2}{2!} (-2) (y^{(0)})_0 + \frac{\pi^3}{3!} (0) + \frac{\pi^4}{4!} (-8) (y^{(0)})_0$$

$$+ \frac{\pi^5}{5!} (0) + \frac{\pi^6}{6!} (144) (y^{(0)})_0 + \frac{\pi^7}{7!} (0) + \frac{\pi^8}{8!} (-5760) (y^{(0)})_0 + \frac{\pi^9}{9!} (0)$$

$$y_n = (y^{(0)})_0 \left(1 - \pi^2 - \frac{\pi^4}{2} + \frac{\pi^6}{6} - \frac{\pi^8}{81} \right) + \frac{\pi}{4} (y^{(1)})_0$$

2(1) transform the following to Laplace (s) domain:

(i) $3e^{-4t} - 5e^{4t}$

$$= \frac{3}{s+4} - \frac{5}{s-4}$$

(ii) $\sin 4t + \cos 4t$

$$\frac{4}{s^2+16} + \frac{s}{s^2+16}$$

(iii) $t^3 + 2t^2 - t + 4$

$$L\{t^3\} + L\{2t^2\} - L\{t\} + L\{4\}$$

$$\frac{3!}{s^4} + \frac{4}{s^3} - \frac{1}{s^2} + \frac{4}{s} = \frac{6}{s^4} + \frac{4}{s^3} - \frac{1}{s^2} + \frac{4}{s}$$

(iv) $e^{-2t} \cos 5t$

$$L\{\cos 5t\} = \frac{s}{s^2+25} = \frac{(s+2)}{(s+2)^2+25}$$

(v) $t \sin 3t$

$$L\{\sin 3t\} = \frac{3}{s^2+9}$$

$$-d/ds(L\{\sin 3t\}) = -d/ds\left(\frac{3}{s^2+9}\right)$$

let $u=3$ $v=s^2+9$

$du=0$ $dv=2s$

$$\frac{\sqrt{du - vdv}}{v^2} = \frac{(s^2+9)(0) - 3(2s)}{(s^2+9)^2} = \frac{-6s}{(s^2+9)^2}$$

$$v) \frac{e^{-t} - e^{-2t}}{t}$$

$$= -\ln\left(\frac{s+1}{s+2}\right)$$

$$L\left\{\frac{e^{-t} - e^{-2t}}{t}\right\}$$

$$= \frac{1-1}{0} = \frac{0}{0}$$

$$= \ln\left(\frac{s+2}{s+1}\right)$$

lim $t \rightarrow 0$

using l'Hopital's rule.

$$\left. \frac{-e^{-t} + 2e^{-2t}}{1} \right\} = \frac{-1 + 2}{1} = \frac{1}{1}$$

$$vii) e^{4t} \cos 2t$$

$$L\{\cos 2t\} = \frac{s}{s^2+4}$$

where

$$s = (s-4)$$

$$= s-4$$

$$(s-4)^2 + 4$$

$$L\left\{\frac{e^{-t} + 2e^{-2t}}{1}\right\} = \frac{-1}{s+1} + \frac{2}{s+2}$$

$$\frac{1}{s+1} - \frac{1}{s+2}$$

$$\frac{1}{s+1} - \frac{1}{s+2}$$

$$\frac{1}{s+1} - \frac{1}{s+2}$$

$$\left[\ln(s+1) - \ln(s+2) \right]_8^\infty$$

$$\left[\frac{\ln(s+1)}{\ln(s+2)} \right]_8^\infty$$

$$\ln\left(\frac{\infty+1}{\infty+2}\right) - \ln\left(\frac{8+1}{8+2}\right)$$

$$= \ln(1) - \ln\left(\frac{8+1}{8+2}\right)$$

$$viii) t \sin 2t$$

$$L\{\sin 2t\} = \frac{2}{s^2+4}$$

~~$$\frac{2}{s^2+4}$$~~

~~$$L\{\sin 2t\}$$~~

$$= -\frac{2}{(s^2+4)}$$

$$u = 2 \quad v = s^2+4$$

$$du = 0 \quad dv = 2s$$

$$\frac{vdu - u dv}{v^2} = \frac{(s^2+4)(0) - 2(2s)}{(s^2+4)^2}$$

$$= -4s$$

$$(s^2+4)^2$$

$$i) t^3 + 4t^2 + 5$$

$$\mathcal{L}\{t^3\} + \mathcal{L}\{4t^2\} + \mathcal{L}\{5\}$$

$$\frac{3!}{s^4} + \frac{4 \times 2!}{s^3} + \frac{5}{s}$$

$$\frac{3!}{s^4} + \frac{8}{s^3} + \frac{5}{s}$$

$$ii) e^{3t}(t^2 + 4)$$

$$t^2 e^{3t} + 4e^{3t}$$

$$\mathcal{L}\{t^2 e^{3t}\} + \mathcal{L}\{4e^{3t}\}$$

$$\mathcal{L}\{e^{3t}\} = \frac{1}{s-3}$$

$$-\frac{d}{ds} \left(\frac{1}{s-3} \right)$$

$$\text{let } u=1 \quad v=s-3$$

$$du=0 \quad dv=ds$$

$$\frac{vdu - u dv}{v^2}$$

$$\frac{s-3(0) - 1(ds)}{(s-3)^2}$$

$$= \frac{-s}{(s-3)^2}$$

$$\frac{4}{(s-3)^2}$$

$$\mathcal{L}\{4e^{3t}\}$$

$$\frac{4}{s-3}$$

$$= \frac{-s}{(s-3)^2} + \frac{4}{s-3}$$

$$iii) t^2 \cos t$$

$$\mathcal{L}\{\cos t\} = \frac{s}{s^2+1}$$

$$-\frac{d}{ds} \left\{ \frac{s}{s^2+1} \right\}$$

$$\text{let } u=s \quad v=s^2+1$$

$$du=1 \quad dv=2s$$

$$\frac{vdu - u dv}{v^2}$$

$$\frac{s^2+1 - 2s^2}{(s^2+1)^2}$$

$$= \frac{-s^2+1}{(s^2+1)^2}$$

$$= \frac{-s^2+1}{s^4+2s^2+1}$$

$$-\frac{d}{ds} \left[\frac{s^2+1}{s^4+2s^2+1} \right]$$

$$\text{let } u=s^2+1 \quad v=s^4+2s^2+1$$

$$du=2s$$

$$dv=4s^3+4s$$

$$\frac{(s^4+2s^2+1)2s - (s^2+1)(4s^3+4s)}{(s^4+2s^2+1)^2}$$

$$= \frac{2s^5 + 4s^3 + 2s - 4s^5 - 4s^3}{(s^4+2s^2+1)^2}$$

$$= \frac{-2s^5 + 4s^3 - 8s^3 - 2s}{(s^4+2s^2+1)^2}$$

$$= \frac{-2s^5 + 4s^3 - 8s^3 - 2s}{(s^4+2s^2+1)^2}$$

$$\frac{-2s^5 + 4s^3 - 8s^3 - 2s}{(s^4+2s^2+1)^2}$$

2017/2018

NUESA EXECUTIVE COUNCIL

$$x(1) \frac{\sinh 2t}{t} = \mathcal{L}^{-1} \left[\frac{\sinh 2t}{t} \right] = \mathcal{L}^{-1} \left[\frac{\sinh(2s)}{s} \right] = \frac{0}{0}$$

using l'Hopital's rule $\lim_{b \rightarrow 0}$

$$\mathcal{L}^{-1} \left[\frac{2 \cosh 2s}{1} \right] = \frac{2}{1} = 2$$

$$\mathcal{L}^{-1} \left[\frac{2}{s^2 - 4} \right] = \int_0^{\infty} \frac{2}{s^2 - 4} ds = 2 \int_0^{\infty} \frac{2}{s(s^2 - 4)} ds$$

$$= 2 \left[\frac{1}{2} \tan^{-1} \frac{s}{2} \right]_0^{\infty} = \left[\tan^{-1} \frac{s}{2} \right]_0^{\infty}$$

$$= \tan^{-1} 2/s$$

B: convert the following to time (t) domains

$$(1) \frac{s-5}{(s-3)(s-4)} = \frac{A}{s-3} + \frac{B}{s-4}$$

$$s-5 = A(s-4) + B(s-3)$$

$$(s-3)(s-4) \text{ at } s=4$$

$$-1 = A(4-4) + B(4-3) \quad -1 = B \quad B = -1$$

$$\text{at } s=3$$

$$-2 = A(3-4) + B(0) \quad -2 = -A \quad A = 2$$

$$x(t) = \mathcal{L}^{-1} \left[\frac{2}{s-3} - \frac{1}{s-4} \right]$$

$$= 2e^{3t} - e^{4t}$$

$$(11) \frac{2s-6}{(s-2)(s-4)} = \frac{A}{s-2} + \frac{B}{s-4}$$

$$x_{(1)} \frac{\sinh at}{t} = \lim_{b \rightarrow 0} \left[\frac{\mathcal{L}^{-1} \left[\frac{\sinh at}{b} \right]}{b} \right] = \lim_{b \rightarrow 0} \left[\frac{\sinh(ab)}{b} \right] = \frac{0}{0}$$

Using l'Hopital's rule

$$\mathcal{L}^{-1} \left[\frac{\cosh at}{1} \right] = \frac{2 \cosh(at)}{1} = \frac{2}{1} = 2$$

$$\mathcal{L}^{-1} \left[\frac{\sinh at}{s^2 - 4} \right] = \frac{2}{s^2 - 4} = \int_2^{\infty} \frac{2}{s^2 - 4} = 2 \int_2^{\infty} \frac{2}{s(s^2 - 4)}$$

$$= 2 \left[\frac{1}{2} \tan^{-1} \frac{s}{2} \right]_2^{\infty} = \left[\tan^{-1} \frac{s}{2} \right]_2^{\infty}$$

$$= \tan^{-1} 2/s$$

B. convert the following to time (t) domain

$$(i) \frac{s-5}{(s-3)(s-4)} = \frac{A}{s-3} + \frac{B}{s-4}$$

$$\frac{s-5}{(s-3)(s-4)} = A(s-4) + B(s-3)$$

$$(s-3)(s-4) \text{ at } s=4$$

$$-5 = A(4-4) + B(4-3) \quad -1 = B \quad B = -1$$

$$\text{at } s=3$$

$$-5 = A(3-4) + B(0) \quad -2 = -A \quad A = 2$$

$$x(t) = \mathcal{L}^{-1} \left[\frac{2}{s-3} - \frac{1}{s-4} \right]$$

$$= 2e^{3t} - e^{4t}$$

$$(ii) \frac{2s-6}{(s-2)(s-4)} = \frac{A}{s-2} + \frac{B}{s-4}$$

$$2s-6 = A(s-4) + B(s-2)$$

$$\text{at } s=4$$

$$2(4)-6 = A(0) + B(2)$$

$$2 = B \cdot 2 \quad B = 1$$

$$\text{at } s=2$$

$$2(2)-6 = A(2-4) + B(0)$$

$$-2 = -2A \quad A = 1$$

$$\mathcal{L}^{-1} \left[\frac{1}{s-2} + \frac{1}{s-4} \right] = e^{2t} + e^{4t} = \pi t$$

$$\text{ii) } \left[\frac{5s-8}{s(s-4)} \right]$$

$$\pi(t) = \mathcal{L}^{-1} \left[\frac{A}{s} + \frac{B}{s-4} \right] = \frac{5s-8}{s(s-4)}$$

$$A(s-4) + B(s) = 5s-8$$

$$\text{at } s=4$$

$$A(4-4) + B(4) = 5(4)-8$$

$$4B = 12$$

$$B = 3$$

$$\text{at } s=0$$

$$A(0-4) + 0 = 5(0)-8$$

$$-4A = -8$$

$$A = 2$$

$$\pi(t) = \mathcal{L}^{-1} \left[\frac{2}{s} + \frac{3}{s-4} \right]$$

$$= 2 + 3e^{4t}$$

$$\frac{s^2 - 3s - 4}{(s-3)(s-1)^2} = L^{-1} \left[\frac{A}{s-3} + \frac{B}{s-1} + \frac{C}{(s-1)^2} \right]$$

$$s^2 - 3s - 4 = A(s-1)^2 + B(s-3)(s-1) + C(s-3)$$

let $s=1$

$$(1)^2 - 3(1) - 4 = A(0) + B(1-3)(0) + C(-2)$$

$$-6 = 2C$$

$$C = 3$$

at $s=3$

$$3^2 - 3(3) - 4 = A(3-1)^2 + B(0)(3-1) + C(0)$$

$$9 - 9 - 4 = 4A$$

$$-4 = 4A$$

$$A = -1$$

at $s=0$

$$0 - 0 - 4 = A(-1)^2 + B(-3)(-1) + C(-3)$$

$$-4 = A + 3B - 3C$$

$$-4 = -1 + 3B - 3(3)$$

$$-4 = -1 - 9 + 3B$$

$$-4 = -10 + 3B$$

$$-4 + 10 = 3B$$

$$6 = 3B$$

$$B = 2$$

$$L^{-1} \left[\frac{-1}{s-3} + \frac{2}{s-1} + \frac{3}{(s-1)^2} \right]$$

$$= -e^{+3t} + 2e^t + 3te^t$$

$$\frac{s-5}{s^2+4s+20} = \frac{s-5}{(s+2)^2+16}$$

$$s^2+4s+20$$

$$\frac{s}{(s+2)^2+16} - \frac{5}{(s+2)^2+16}$$

$$= \frac{s}{(s+2)^2+4^2} - \frac{5}{(s+2)^2+4^2}$$

$$= \frac{s+2+2}{(s+2)^2+4^2} - \frac{5}{(s+2)^2+4^2}$$

$$\frac{s+2}{(s+2)^2+4^2} - \frac{2}{(s+2)^2+4^2} - \frac{5}{(s+2)^2+4^2}$$

$$\frac{s+2}{(s+2)^2+4^2} - \frac{7}{(s+2)^2+4^2} \times \frac{4}{4}$$

$$\frac{s+2}{(s+2)^2+4^2} - \frac{7 \times 4}{4((s+2)^2+4^2)}$$

$$\frac{s+2}{(s+2)^2+4^2} - \frac{7 \times 4}{4} \left[\frac{4}{(s+2)^2+4^2} \right]$$

$$\frac{s+2}{(s+2)^2+4^2} - \frac{7}{4} = e^{-2t} \cos 4t - \frac{7}{4} e^{-2t} \sin 4t$$